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import sys
sys.path.append("statlib")
from multi import find_multico

find_multico(data, epsilon=1e-10, verbose=True)
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data = [[1, 2, 4, 3],
[3’ 2’ 5 3 5] ’
[4’ 3’ 7’ 7] ’
[2, 1, 3, 31,
[5, 4, 7, 9]]
import sys




sys.path.append("statlib")
from multi import find_multico

a = find_multico(data)

[[':‘:7’:7‘:" '7':7'::":" ", ':‘::‘:7‘:']]
T R W5
[['7‘::‘:7’:" '7':-,'::':', "’ '7':-.‘::':']]

Lo EIicmREns & Fici3, EHEIEBEXH S EE2RLT0W5S, SEWRENZY AP LI, &
BOEBENTREING, TAFZ VR (%) BDOVTWAERPEWIEETH S, Lol s, 124 FH
DERDNEIETH 5, EBRIC, | FHOLEL 2 BHOEBOMEDGEID 4 HHOEHOMEIC > Tw5,

B TRWEBAICIE, "no multico" ERRING,



